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L vy mwn (in printed version — T n359n): how to pay workers from estate of someone who was w*1pn his property
i.  (note: as per above, 110y 1 interpreted that the “items” referred to were nmop
1. Modification (77p®17 *): it could have been a member of LyVaR n’a (D prepared with nw 53)
b. v if the estate included items that are fit for the nam, use them directly to pay nxamn
c.  p’x thatis not the proper method
i.  Reason (71w5n): we do not transfer nwITp onto labor, rather onto coins
ii.  Rather: take the items from the estate to the value of the debt and “redeem” them on wpn nyn
1. Note: these coins had already been made mundane by transfer on to the building, as per above
2. Then: we give those (now mundane) items to the workers as their pay
3. And then: we re-purchase the items from the 0Im® from the new nawYn nnIn
I1. 1 M2WN (in printed version - continuation of 7 1>#m): if someone was W 1pn his property and there were animals fit for nam
a. ~”7.males are sold to those who need m%y; females -to those who need n'n%w — funds go (with rest) to n’an p1a
b. y177 1 males are offered as m»y, females sold to those who need n'n5v; use funds for m"y (rest>n’an p7a)
i.  y” prefers 8"'s approach, as it is consistent
ii. 0299’1 heard that we rule like 8" if the v7pn was explicit; if ono — we rule like yvin> "
III. Discussion: assessing the dispute between "1 8"
a. 27 Ampm an p1a’s “advantages” listed - including that nan pT1a% MYTPN DN — must be authored by r™
i. 2y 1 R™'s source is v. 1, as v. 2 already addresses his house, v. 1 must refer to 0023
b. 27(version 1, 771wr 37): dispute is only if he was 1031 w1pn, but if he specified nnn3, all agree it goes to nam
c.  37(version2, X2 9): dispute is only if he was w»1pn his flock; if he was Y021 v»1pn, all agree it goes to nvan pTa
i.  Challenge: aren’t mnna (which are included) fit for nam?
ii.  Answer: he could have said that; by his w1pn ono, we assume he meant that it should go to n»an p1a
pr /7. dispute is in both cases — w*Tpn his flock and 1031 v 1PN
e. Related discussions: re valid and invalid forms of w1pn
i. v a7 if he was 8 an animal of n’an p7a while onn, the byproducts (e.g. milk) are 9mmn
1. Support: ®:1 nnn states that — the offspring and milk are permitted
2. Block (x¥7on 77): perhaps that is a case where they became n”ya after 118 - permitted
a. Support: 20 p9IN — byproducts are MoR after 11779
ii. 707 7 an p1a wTp that were redeemed as DN become PYIN
1. Proof: else, how could nam nwtp attach? (plus: proof from rule narn »235 1990’ — RN *PMN)
iii. o 25yx that were sanctified nam? — the status attaches (for purposes of "y Ny NOR)
f.  Status of female sanctified for male 277 DWRY NVa ,NY — and its ability to generate NN
i.  p’m in all three case, " nn is effective
ii. w1 (versionl): only in case of n%Y
1. i ‘rrationale: since a Napa can come as 9PN NNY
iii.  w”(version 2): in no cases is it valid
1. jarp2 77 rationale — even if it is the right type (ram), if it is too old, invalid — certainly if wrong type
2. pry 77 w™ and YW1 1 (in our Mwn) agree that napy w1pn for N9y —is DNT VTP (not 3"MTp)
a. Argument: if yvy "1 held that it was 910 w1pn, it would have to graze, get a o etc.
3. 17 disagrees with v about noy, as it can come as n'nYw (napa valid) >should be valid nmnn
a. Challenge: why doesn’t 21 disagree about nwx,which can become ny?
b. Answer: the actual noa would be offered as nmHw; but nwr would be sold for Ny
4. Analysis of dispute: whether such a w1pn is 00T WTPN (2 no NMnN) or g WTPN (=>nMnn valid)
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g. Source: for yvin’ "1’s position — v. 3 — all goes n%Y; 7pa1 extends to map
i.  Challenge: the verse explicitly states o1
ii.  Answer: just as we read o’nn and extend to n”ya
h. Suggestion: their dispute comes down to 15757 X02'W (numerous interpretations...)
IV. > 0N (in printed editions - n 7257 in %523~ continuation of 7 m%7) — status of WY WTPN with items fit for nam (wine, oil, birds)
a. v 11 8”1 should be sold for those who require that same thing, funds used for m»y; rest goes to n’an p1a
i.  Source (721177 79): v. 3 — every animal donated become n5y; 12 excludes birds
1. Challenge: above, 1Ny "1 explained v"1’s opinion (1N MW NYIYY Napa wMan) since there is MYn Ny
a. But: here he rules that vo21 w1pn which includes maw — they have no qun nvy1p
b. Answer: anything that cannot be brought as is nor its redemption money — only has o'nT nvyTp
i.  And: these birds cannot be brought (per v. 3), nor redeemed ()% 1178 PR)
ii.  Explanation: of w™ (version 2) above — (if he designates nap1 for any of them,nmnn is ineffective)
1. Source: v. 4 — must be nxrnv for its own purpose (Nknv already mentioned)
a. Challenge: why would the nin then instruct Paym...nym (vv. 4-5)?
2. Rather: v. 4 interpreted as something which has no possible offering (unlike 912 nap)
a. Challenge: again, why would there be n> ym nnyn?
V. R MWN (in printed editions - v 1% in 521- 7 2257) Price setting in wTpn
Every 30 days: they would adjust the price of materials used for m112p (animals, grains etc.)
If: someone agreed to provide (e.g.) flour at a higher price and it dropped — owes greater amount
i.  But:if he agreed to the lower price and it went up — must pay higher amount
c. Reason: wipn 7 is always “on top”
i.  If: the flour got wormy or the wine went sour, that is the supplier’s loss
Payment: he does not get paid until the nam accepts the offering
i.  ©”7(Nn7213): he is paid immediately, as the o702 are diligent and zealous
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